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CF: ['LfN', 'LfNT", "TsN', "TSNT']

LfN |
— LfNT
— TsN
— TsSNT
1
|
1
- |
1
1
: .
I
1
]
1
1
-20 20 40 60 80 100 120 140



CF: ['LfA", 'peakTgtLAI']
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CF (plot by DAT)
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CF (plot by adjDAT)
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Plot Env Data
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Plot [['sfTemp’, 'sflnit’, 'sfDeV', 'sfDem']]
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Plot EnvOpt Decision

35 A
- T 35 -
30 4 ——  Tdew
— To .
25 30
20 A 25 A
15 A 20 -
10 A
15 A
5 4 — optT1
101 —— optT2
0 | T T T T T T T T T T
0 5 10 15 20 0 5 10 15 20
hr hr
— T | 807 —— OptRH1
—0— LT ——  O0optRH2
30 A 70
60 -
25 A
50 A
20 A
40 A
15 A 30 -
T T T T T 20 L T T T T T
0 5 10 15 20 0 5 10 15 20
hr hr
1200 A
—_
1000 1 —o— PPFD | 801 ‘—————__\\////A\///—‘\\\\J/\¢/~‘~§‘"
800 ~ 60 -
600 40 4
400 -
20 A
2001 0 —— warRH1
04 —  warRH2
0 5 10 15 20 0 5 10 15 20
hr hr
4 -
—— optVPD
—0— leafVPD 30
34 — airVPD
25 4+ —— PATG T1
21 —— PATG_T2
- T
20 A
1 N \
15 A
0 -
0 5 10 15 20 0 5 10 15 20
hr hr
35
80 1 —e— RH
—— RHo
70 - 301
60 257 —— PpATS T1
—— PATS T2
>0 201 —— T
40
30 A
0 5 10 15 20
hr
—e— AH
109 —— AHo
8 -
6 -
4 -
2 i ~ W
0 5 10 15 20

1400 ~

1200 ~

1000 A

800 A

600 A

400 -

200

1100 ~
1000 A
900 -
800 A
700 A
600 A
500 A

400 -

1400 A

1200 ~

1000 ~

800 A

600 -

400 -

—— PATG_P1
—— PATG_P2
—— P

8 10 12 14
hr




o

=

N

w

SN

[6,]

[e)]




